The sector of a circle shown 1o the left has its center at point O, The
arc XY Z nas ter *g th 10.8. and the central angle XOZ has measure
1.8 radians. What is the radius length. 7, of the sector?
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Due to weather, a barge captain decides to reach her destination in two iegs: one due north and
one due west. On a direct route, her destination is about 1,830 miles (mi) away; see the figure
above. If after traveling 605 mi due north the captain determines it is time to head due west,
how many more miles are left in the trip? (Round the answer to the nearest mile.}
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Itis given that sin(70%) = 0.94, cos(70°) ~ 0.34, and
tan(70%) == 2.7. In the figure at left, ZABC and ZBCD are right
angles. Which of the following is closest to the length of 4 B?
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